Quiz 1 Caleulus 1 B/5/03
Each problem 15 worth 3 points. For full eredit indicate elearly how vou reached your answer.
1. The maximum sea ice extent in the Northern hemisphere was measured at 12.8 million square

kilometers in 1990 and 12.1 million square kilometers in 2002, Find a linear function which
includes these two points.
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X. I ¢ popualation of the U5, 1n The TI8T census was 107 million, and in 1990 was 249 million.

Find an exponential finction which represents the population ¢ years after 1980, assuming the
current rate of growth,
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